
BGYCT-137 1   P.T.O. 

 BGYCT-137  

BACHELOR OF SCIENCE (GENERAL) 

(BSCG)  

Term-End Examination 

December, 2022 

BGYCT-137 : STRATIGRAPHY AND 

PALAEONTOLOGY 

Time : 2 hours Maximum Marks : 50 

Note : All questions are compulsory. Marks allotted  

for each question are indicated against it. Draw 

well-labelled diagrams, wherever necessary. 

 

1. Briefly answer any five questions of the  

following : 52=10 

(a) What is the difference between an angular 

unconformity and a disconformity ?  

(b) List four key morphological features of 

corals.  

(c) What are intertrappean and infratrappean 

beds ?  

(d) List the important groups of fossils 

belonging to organic-walled microfossils.  

(e) Name the five linear divisions of the 

Himalayas. 
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(f) List four key morphological features of 

nautiloids.  

(g) Write about the life reported in the 

Cuddapah Supergroup.  

(h) List the taxonomic hierarchy of humans in 

descending order.   

(i) What is the main lithology of Triassic 

succession of Spiti ?  

(j) List the important plant fossils of the 

Gondwana Supergroup of peninsular India.  

2. Write short notes on any four of the  

following : 45=20 

(a) Chronostratigraphic Units  

(b) Glossopteris  

(c) Ammonoids  

(d) Radiolarians  

(e) Indo-Gangetic Plains 

(f) Stratigraphy of the Lower Siwalik Group 

(g) Palaeogene Succession of the North-west 

Himalaya  

(h) Uniformitarianism and Catastrophism  
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3. Answer any one of the following : 110=10 

(a) Describe morphological features of a 

trilobite, with the help of neat sketches.  

 OR 

(b) Discuss in detail stratigraphy of the 

Vindhyan Supergroup.  

4. Answer any one of the following : 10 

(a) (i) Discuss the role of climate in the 

evolution of horse.  

(ii) Describe the Cretaceous succession of 

Tiruchirapalli.  

 OR 

(b) (i) What are fossils ? Describe the types 

of fossils based on size.  

(ii) Discuss the distribution of coastal 

regions of India.  
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 ~r.Or.dmB©.gr.Q>r.-137  

{dkmZ ñZmVH$ (gm_mÝ`) 
(~r.Eg.gr.Or.) 

gÌm§V narjm 

{Xgå~a,  2022 

~r.Or.dmB©.gr.Q>r.-137 : ñVaH«$_ {dkmZ  
Ed§ Ordmí_ {dkmZ 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> :  g^r àíZ A{Zdm ©̀ h¢ & àË`oH$ àíZ Ho$ A§H$ CgHo$ gm_Zo {XE 
JE h¢ & Ohm± Amdí`H$ hmo, gwZm_m§{H$V AmaoI ~ZmBE & 

 

1. {ZåZ{b{IV _| go {H$Ýht nm±M  àíZm| Ho$ CÎma g§jon _| 

Xr{OE : 52=10 

(H$) H$moUr` {df_{dÝ`mg Am¡a Ag_{dÝ`mg _| Š`m A§Va 

hmoVm h¡ ? 

(I) àdmb H$s Mma à_wI ê$nmË_H$ {deofVmAm| H$mo 

gyMr~Õ H$s{OE & 

(J) A§VamQ´>¡nr Am¡a AdQ́>¡nr g§ñVa Š`m h¢ ? 

(K) O¡dr`-{^{Îm dmbo gyú_Ordmí_m| Ho$ à_wI g_yhm| Ho$ 

Ordmí_m| Ho$ Zm_ gyMr~Õ H$s{OE & 

(L>) {h_mb` Ho$ nm±M a¡{IH$ {d^mOZm| Ho$ Zm_ {b{IE & 
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(M) Zm°{Q>bm°BS>m| H$s Mma _hÎdnyU© AmH$m[aH$s` {deofVmE± 
gyMr~Õ H$s{OE & 

(N>) H$S>ßnm _hmg§K _| XµO© hþE OrdZ Ho$ ~mao _| {b{IE & 

(O) Adamohr H«$_ _| _Zwî`m| H$m d{J©H$s` nXmZwH«$_ H$mo 
gyMr~Õ H$s{OE & 

(P) ñnr{V Ho$ Q´>mBEo{gH$ AZwH«$_ H$s _w»` Ampí_H$s Š`m 
h¡ ? 

(Äm) àm`Ûrnr` ^maV Ho$ Jm|S>dmZm _hmg§K Ho$ à_wI nmXn 
Ordmí_m| Ho$ Zm_ gyMr~Õ H$s{OE & 

2. {ZåZ{b{IV _| go {H$Ýht Mma   na g§{jßV {Q>ßn{U`m± 

{b{IE : 45=20 

(H$) H$mbñVaH«$_ BH$mB`m± 

(I) ½bmogmoßQ>o[ag 

(J) Eo_moZm°BS> 

(K) ao{S>`mobo[a`m 

(L>) qgYw-J§Jm H$m _¡XmZ 

(M) {ZåZ {edm{bH$ g§K H$s ñV[aH$s 

(N>) CÎma-npíM_ {h_mb` Ho$ n¡{b`moOrZ AZwH«$_ 

(O) EH$ê$nVmdmX Ed§ àb`dmX 
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3. {ZåZ{b{IV _| go {H$gr EH$  H$m CÎma Xr{OE : 110=10 

(H$) ñnîQ> aoIm{MÌm| H$s ghm`Vm go Q´>mBbmo~mBQ> H$s _w»` 

AmH$m[aH$s g§~§Yr {deofVmAm| H$m dU©Z H$s{OE & 

 AWdm 

(I) qdÜ`Z _hmg§K H$s ñVa{dÝ`mg H$s g{dñVma MMm© 

H$s{OE &  

4. {ZåZ{b{IV _| go {H$gr EH$  H$m CÎma Xr{OE : 10 

(H$) (i) Kmo‹S>o Ho$ {dH$mg _| Obdm`w H$s ^y{_H$m H$s MMm© 

H$s{OE & 

(ii) {Vê${Mamnëbr Ho$ {H«$Q>oeg AZwH«$_U H$m dU©Z 

H$s{OE & 

 AWdm 

(I) (i) Ordmí_ Š`m h¢ ? AmH$ma Ho$ AmYma na 

Ordmí_m| Ho$ àH$mam| H$m dU©Z H$s{OE & 

(ii) ^maV Ho$ g_wÐVQ>r` joÌm| Ho$ {dVaU na MMm© 

H$s{OE & 


